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feretor AT Teaching method

el fafr demonstration method

ST FI hadl AT AT @RI UGl JATed gl gl Fifch AT Th
ATagTRG Teoide gl O & a7 H 99T e A &1 hr #Agea
gl 9eeT Al & o1y va et St i afsrg W|a &1 FHaT H aTh
fcufas #1er &1 f9aud el & 91y 39 A garT 38T Ao
T gl fA8TH Tgrd AT TN HIAT ST § dUT BT YR Y&

fAdreor A U T JTed A &1 BIF ATl HJAR el Hehrd
o feTes & T @Wa

(a) Hydrogen is an element. It is a gas (b) Oxygen is another element. It is a gas  (¢) Hydrogen and oxygen combine to
which burns explosively. which does not burn itself but helps form a compound ‘hydrogen oxide’
other things to burn. which is commonly known as water.

It puts out fire.

ge2le fafer &1 319-Meaning of display method-

gedT 3 ag fRetor [(fY § fo9d T 93T, T Yummell a2g g
T FI TUSC fohar ST Tt gl 39 AfS & o sfgat & ggraar @




Sifee IR &l Tedr 8 Y g g1 39 A garr Risor s w

T & 3T TRIETT 1 3TEROT R ST g1 yede fafer 7 sreardes

e 3 T, AISSl T AT Feh HeTeicl (a0 TE I FISERIOT
T Bl

Figure 33. The bulb on left side has higher
resistance, so its power 1s less. It glows less
brightly. The bulb on right side has less
resistance, so its power is more. It glows
much more brightly.

3ETEIUT--Ife Felm # fAeTh i GefTH WA & TadIeteT gl Hi
ffr &1 waer yefda sear § ar a8 veds R_fY &1 936 e ghar §




YT $HF Y & 98 I T SA-faffeeT ypR & g, faffiee g
& I, STST gaRT el g@eir 3|

yedel faftr &l g&dd #el g Arauf=a-

3eATh H Yo AT F R A & THT o grEauiagr w
379 IIATAT IAfeT S fAFT T B-

Y Ul ST W A SIgr Tl et s Tuse femrg gar anfeud
1.37€I19eh T FTYRUT 3UROT hIH H ol dIgU|
2.9EsT WY SOTg U leTT dIfgU ST@T 9T Uahrel vl

3.916 &1 MaRTehdll & 3HeTeT &1 Jelel T&dd |

4.9ede carT Fi$ fig A1 FIIT T g AT

5.9 39 YR HI gl AIfieT ToaH o 3T of dohl

6.9 & FHI ITEATTSh Fl ATEATA & AT GG2led Il AT

7.9 F BT & d¢ F Fohal dUT fAcuid & FaY AT Hel &
foT wacq @& g S afgu|

8.yl # fatent 3R facafddr &1 TfSehIvT HeaAWUTcA® Tg=T aATRT|

9.9 TUT TEI3HT & TeLleT il f&eh FHIERATN Folled & foIw HgeaqoT
eIk ATEAT &l AT FEAT IIgT Sid-seleh &1, 1, [T, B,




Cord (connecting cable)
made of insulated
copper wires

Element
(coil of nichrome wire)

Figure 38. This is an electric iron.

Figure 39. An electric iron works on the heating effect of

current. When current is passed, its heating element made of

nichrome wire becomes red-hot and produces heat.

ggdled fafer & @mH-Performance method benefits-

geder frgor fafr & foea omer @i 2

1.3 #fea AN 9 @A s g9t Hr gefia fFar o ghar gl
2.39 AT & RN&TT FF A W TAT FHF 97T &

3.9Tcfehl &1 TS ua #gur gfgar 3ifee afhg T Bl

4 ved R & ERieT o Ty dua dad g

5.7g Tretor fafer BT Fem3it & fov 3f8w 3uaieh [ gl

65997 Fee RaTh ganT fFT ST § 3UOl AT ge-he FA g B
7.39shAT HT AT H FAT gl WX Y TA&T0T werraRIrel gar g

g.omar #T felreTor, g% w9 faaR afed & e g gl

9.59 fafr ¥ wed AT 318 €A1$ grar B




10.579 39 fafer & fAquial &I TUsC U § A Hhd gl

yediT fafer & av-Performance method blame-

Performance method limits

gl fafer dir dAre-

1. 39 freror fafr & gl gt r Tad 9T et &1 HAldr =gt
fAreran|

2.3fg ggdier FHrdT Sfeer g ar faganfiat & Hor aromsd, Reurdr aur
Fierel B THASA F HSAS g B

3.37 freror [_AfY d sw gAeemer i e ot @ g © a9 &
T IUSION TAT YAt T TATIT hlall AT TIT TTEAT AT S|

4.7 T FHEY & HROT YT Merar F forar arar & T9d 396
IffeT Quar & JruReT o A8 @ 91|

5.937 el H yedd & gAY g ©Er & Yedd & S ¥ W@ U=l 9
qH9d 8T gl

6.71e70T @1 gH@ fAeuid 'H AR d@r' & Fafd T8 [ d@ngar ik
A & [Aquia W g 3mRd gl

7.50 feror R[S garT G & AT J #7 & JedeT g ThdT ¢

8.hHI-hel TA&TH SART TN Thol gl gl dl OE & Ad H AvT &
gfd 3 aifadr 3cueet g S g




